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BREEHFREOHIERERER CHUERZDERXRENSDNDA)

REHRE - SHTET7 A1H(B) ~SHaE 7 A318 (0K) (B3I @ N 9Llb/kg)
B — = o ®REH R BERRE| . & HRRE
== A3y mA FREN (78) 90134 (2794134) ®I9h137 (£594137)
(EES EIN 8L =Z1EHT MNEKR)| A~ i&E 10.2 | A& 8.3
I EES AV R X BT A ] 26H(K)| A& 12.1 | A& 9.6
3 |BpE 1< X |BILUTHaEETEM [ 22H(8)] ~&EE 9.5 | AH&H 7.6
M EES HiRF+ BB LT RS-HT 4H(K)| A& 4.4 | AEH 3.7
S EES F Y 8L = 50T IH (N)| A& 7.3 | A& 6.0
6 |[B Fa1ol BB LT A SHT 21H ()| A& 6.8 | A&EH 5.5
[ EES Fa1ol 2L = A HE] 28H(H)| A& 8.0 | A& 6.3
I EES Fa1ol BT AR BEK 23H(N)| A& 7.8 | A& 6.4
CIEES Fa1ol LT EHE 2HON) | A& 8.2 | A&H 6.7
10 ¥ 19U ELUHFAEHITARH [1MHR)| A&EH 5.7 | A& 4.7
11 % 19U 8L HA0EH]T 26H(K)| A& 5.9 | & 5.0
12 |$F% 19U LR 6H ()| A& 4.4 | AEH 3.5
13 ¥ 19U LR 6H ()| A& 7.6 | A& 6.2
14 |53 Fa1oU 8L/ \LLIH 28(B)| ~%E 7.9 | A& 6.4
15 B9 Fa1ol EHEEEE T 25H (K)| A& 12.7 | A& 9.9
16 | JIvAHAE AL R SHT 30H (X)) A& 8.3 | A& 8.1
17 |59 JIvAHAE L= g AT IH(N)| A& 5.9 | A& 4.8
18 |$F% Jv A4 E AL = HET 228(B)| A& 8.1 | A& 6.5
19 ¥ JIvHA4E ELUHFAEHETAH |[11HK)| RA%&HEH 6.2 | A& 4.9
20 |BFE JvHA4E ELLUTHFAEETAHE | 23HN)| A%&EHE 6.6 | A& 5.4
IEES JIvHA4E ELUHHAMBESE | 17THOK)| RA%&H 7.4 | A& 7.0
22 |BE JvHA4E LR 6H ()| A& 5.8 | A& 5.0
23 |FE JvHA4E EBLUHERALBTEER] 22H(B)| A%&H 7.8 | A& 6.8
EES JIvAHM4E YRR 25H (K)| A& 8.3 | A& 7.3
ElEES AyF—= EBLLTFER 23H(N)| A& 7.1 | A~ &H 5.9
26 |FFE ERESS 8L LT = 50T IH(N)| A& 6.5 | A&EH 5.2
27 % ERNESS BB LT RS-HT 4H(K)| A& 5.9 | A& 4.9
EES ERNESS AL A SHT 26H(K)| A& 9.8 | A% 8.6
29 |FFE ERESS 2L = A HE] 28H(H)| A& 4.4 | AEH 3.7
30 |$FE ERESS ELUHFAEHETRER] 1H(B)| A%&H 12.6 | A& 10.5
31 |$FE ERNESS BUmEXLEENR] 128 (£)] ~8H 9.5 A& 8.3
32 |$FE k¥ b BT AR BEK 23BN A& 6.8 | A&EH 5.6
33 |$FE k¥ b EBILUHERALBTEE]| 16HN)| RAi&EH 10.4 | A& 9.1
34 |$FE ExF 8L = 50T IH(N)| A& 1.4 | A&H 9.3
35 |$FE +2 AL A SHT 17THOK)| Ai&HE 7.7 | A& 6.6
36 |FFE +2 BT AR BEK 23H(N)| A& 7.8 A& 6.8
37 |$FE +2 EIGEES 2HON) | A& 8.4 A& 6.9
38 |$FE +2 E LT FEEHETRAER | 295 (B)| A%&H 7.5 A& 6.1
39 |$FE +2 ELTHPFEEHETRAER | 295 (B)| A%&H 10.8 | A& 9.8
MBEES +2 ELTHPFEEHETRAER | 295 (B)| A%&H 8.4 A& 7.0
NEES V=Y BB LT RS-HT 4H(K)| A& 7.0 | & 5.8
YR EES —_V=5 LT FAEHETRER] 1H(B)| A%HE 9.8 | A& 7.7
EEES E—<v BT AR BEK 23H(N)| A& 11.0 | A~t&H 9.1
MEES =S”_kYk AL R SHT 21H ()| A& 7.7 | A& 6.5
45 |FX SZRYbE BBLLTHEH 17THOK)| A& 9.3 | A1 7.6
46 mmmkﬁﬂ%)#ﬁ* ﬂMﬁﬁEW*“ 10H(7K)| A& 4.8 | A&H 4.0
48 M§-%a>¢597/:(ﬁ) EN=G 108 (k)| A& 8.9 | A%&H 7.2
49 I -=DCFE|T7F 8L =ZEHT IH (N)| A& 8.0 | A%&H 9.5
50 [IUIE-=DCHE|[T7F B8LLTHEAH 3HOK)| AHEHE 13.7 | A &H 11.0
51 [IUE - EDCFE [ XH VT B LT iR BT 128(&)| A~ i&H 11.8 | A&H 9.6
52 Mﬁ-%a>¢ﬁvx9yj BB LT EHATET 26H (k)| A& 11.2 | A %&H 9.7
FEHNMERED R A EEEVE Hjamh 5H(E)| A1&H 11.0 69.6 9.1
54 mK-ngﬁiiavﬁ ELUTHFAHETRH  [31HOK)| A& 9.8 | A%&H 7.9
55 |BN3E 7> 3 WhEm/NZEE 18H (K)| A& 5.9 | A& 5.1
56 |EN3E ALA N 298 (B)| A% 7.6 | A& 6.6
57 %i 1FI5 AL\ L 228(B)| A& 11.3 | A& 9.8
58 [E= I X NEBESEN 26H(K)| A& 6.2 | A& 5.7
59 [E= DX (F18) 8L = 50T 1H(B)| A% 8.7 | A#&H 6.7
60 |[FR=E DX (F18) 8L LT =150 5H(E)| A% 10.9 | A%&H 10.2
61 |R=E DX (F18) 8L RRR 6H ()| A& 8.4 | AHEH 7.5
62 |R=E DX (F18) BBLLITHAR 23H(N)| A& 9.9 | A%&H 8.2
63 |R=E DX (F18) BLLTEKES 2HON) | A& 6.8 | A&EH 5.6
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(B = N 9bik/kg)

=i — o o REH | 4 RERFAE| . RIERAE
== A73Y mH IREU M (7/8) | I3k (b594134) 994137 (b594137)
64 |R=E DX (5t8) ABLLI T tEHBRME] 4B(AR)| AMRE 5.5 AR 5.4
65 |R= DX (5t8) AL = ] 268 (£)| AtRH 8.7 | A& 7.2
66 |FR= DX (5t8) AR TMHER)| A& 5.5 | AM&RE 5.7
67 |R= DX (5t8) MUTEALERE/IR| IHCN) | A& 5.7 AR 5.7
68 |FR= DX (5t8) AR SEANHT TH(B)| A& 8.7 | AM&H 8.0
69 |R= DX (5t8) — At 13H(£)| AtRH 8.9 AR 1.4
70 [R= X (5t8) i=l=n1 4H(AR)| AM&RE 4.6 | AMRH 3.9
ESES (< L=y 4H(AR)| AM&RE 8.9 | A& 7.5
[PEES < EIGE=E={:0] SH(E)| AR 6.4 | AMRH 5.1
EREES 754 AL ZA5H] TMHER)| A& 10.9 | A& 9.4
74 [Zfth =] WNERE N 26H0OK)| AMRH 4.9 | AMRH 4.1
75 [Zoftt LEVAN—L  [BILTZRIEHT TMHER)| A&RH 12.9 | AR 10.5
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